
2-Digit Minus 1-Digit Subtraction (F)
Name: Date: Score:

Calculate each difference.

59 − 5 =

53 − 3 =

13 − 9 =

88 − 3 =

64 − 8 =

54 − 3 =

31 − 4 =

72 − 7 =

84 − 9 =

75 − 7 =

88 − 4 =

16 − 7 =

64 − 5 =

29 − 6 =

25 − 7 =

52 − 3 =

62 − 1 =

30 − 9 =

57 − 9 =

70 − 6 =

85 − 2 =

71 − 4 =

14 − 5 =

47 − 2 =

36 − 5 =
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2-Digit Minus 1-Digit Subtraction (F) Answers
Name: Date: Score:

Calculate each difference.

59 − 5 = 54

53 − 3 = 50

13 − 9 = 4

88 − 3 = 85

64 − 8 = 56

54 − 3 = 51

31 − 4 = 27

72 − 7 = 65

84 − 9 = 75

75 − 7 = 68

88 − 4 = 84

16 − 7 = 9

64 − 5 = 59

29 − 6 = 23

25 − 7 = 18

52 − 3 = 49

62 − 1 = 61

30 − 9 = 21

57 − 9 = 48

70 − 6 = 64

85 − 2 = 83

71 − 4 = 67

14 − 5 = 9

47 − 2 = 45

36 − 5 = 31
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